. ® [
Bltspower EA ASUS X99 Strix Gaming &7

(1) BP-ASX99G 14
(2 @ 6%
(3@ 1 =skEmnsA 2K
(@ crPusmFHIRIE 4B
@ (B6) cPuEmEHE 48
(® CPUALfIE R4 48
@ o5 =xET 5 {@
M2.5x6 SR EB4% 5 @
(9) @ RGBIZHIE 1 B3 RiREE)
BB 118
a| @) Max24 KR 2@
v EEEE Accessories
Designed for ASUS X99 Strix Gaming.
@ (@) BP-ASX99G 1SET
(2 Fitting 6 PCS
@ AE2RTEFIZFHEEM @ 1.0 mm Thermal Pad 2 PCS
@ / - :» Please refer to the illustration lock nut to the position. @ CPU Hand-Turn Nut 4 PCS
@ | ® L & ﬂ(,g} F2RTERBEBREL ®) CPU Spring 4 PCS
I . ® CPUScrew 4PCs
g.,. g, @ 0.5 mm Washer 5PCS
u = = M2.5x6 mm Screw 5PCS
@ g @ RGB Controller 1 PCS (Refer Instruction)
X Booster screw 1PCS
@ @) M4x24 mm Screw 2PCS
B¢
%L ASUS X99 Strix Gaming i&it
(1) BP-ASX99G 14
@ 61
(® 10 BRSHEA 2A
@ crPuEmFsiiE 44
(B crutmEE 44
(& CPUAMIBEERL an
@) 05 kT 54
M2.5x6 SRR 51
(9 RGBiZHlz 11N MiRAH)
BERY 4
@) M4dx24 BrigL 2%



Bitspower’

E ?"ﬁ'\' % E"J .I-.EEE B% FH ﬁl-. E Thermal Paste Applied Correctly Positions.
BEEREHE Using Appropriate Amount Of Thermal Paste.

B 1 mmEzang [ 1 MM THERMAL PAD B 1 =xSReR
EE KA BERRAASHERREERNUEL - £RAEH - SRAROBRT - A Before fill in water,please make sure all the component be installed correctly, A AR - BKAT - BERIAMAZSHERREERNUEL - EFFEN - BAKRNERT -

ET24NBABKAE - TERAIRKIAR & BRI - R R KT BB EAREN - avoidingleaking happen and destroy the PC component. T4/ IR - BEERKEREEFEN - BERERKTSRBMBHRE -

V1/58—hR



